||||||||||||||||
||||||||||||||
||||||||||

& BRUNDLE

Channel Support

||||||||||
||||||||||||||
||||||||||||||||

Brackets
Channel Washer 2 Hole Plate 3 Hole Plate 4 Hole Plate

40mm

To Suit RodHole @ mm| Code Code Code
M6 9 50CF106| 50CF3 50CF4
M8 9 50CF108
M10 13 50CF110
M12 13 50CF112

5 Hole Plate

Code
50CF11

90° Bracket 90° Bracket

Code Code Code
50CF11A 50CF12 50CF13 50CF14
Shelf Bracket 90° Delta Bracket 90° Delta Bracket 90° Angled ‘T’ Bracket

Code Code Code Code
50CF15 50CF17 50CF18 50CF19
90° Angled Left ‘T’ 90° Angled Right ‘T’ Single ‘Z’ Bracket Single ‘Z’ Bracket

Bracket Bracket

96mm

L

A\\\

89mm

Code Code Code Code
50CF20 50CF21 50CF23 50CF24

717



Channel Support

40mm

40mm

Internal Obtuse
45° Angle Bracket

External Obtuse
45° Angle Bracket

45° Acute Angle ‘T’
Bracket

45° Acute Angle ‘T’
Bracket

External Connector

Code Code Code Code
50CF25 50CF26 50CF2945 50CF3045
Internal Connector

Code Code Code Code
50CF31 50CF3145 50CF3341 50CF3621
Single Delta Plate

Internal Connector

Base Plate Double Fix

Base Plate Single Fix

153mm

Double Delta Plate

153mm

Code Code Code Code
50CF3641 50CF38 50CF39 50CF4041
Beam Clamp Beam Clamp Beam Clamp

‘Z’ Beam Clamp

Code Code Code
50CF4082 50CF44 50CF4521 50CF4541
Fixing bolt M10. Fixing bolt M10.
Beam Clamp

Beam Clamp ‘U’ Bolt Beam Clamp ‘U’ Bolt

718

3
Ey ‘2”7/77
N
£ £
c’% 5 '5%‘(@
Code Code Code Code
50CF46-UL 50CF46-UM 50CF47 50CF48
Fixing bolt M10. Fixing bolt M10. Fixing bolt M12. Fixing bolt M10.
304 316 Zinc Zamac Mild steel Galvanised Aluminium Duplex



